1.(a) Rin, Rout & closed-loop gain 2 1 &. open-loop gain Bt #3513 0.5
(a) We can break the feedback network as shown here:
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To find the feedback factor K, we can use the following diagram:
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1.(b) Rin, Rout & closed-loop gain 2t 1 &. open-loop gain Tt FSHH 0.5

(b) We can break the feedback network as shown here:
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To find the feedback factor K, we can use the following diagram:
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1.(¢) Rin, closed-loop gain 2t 1 &, Rou 2 ™. open-loop gain Bt 76tH 05 & ZH
(c) We can break the feedback network as shown here:
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To find the feedback factor K, we can use the following diagram:
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